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Question Number : 61 Question Id : 3666944235 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one 1s labelled as Assertion A and the other 1s
labelled as Reason R :

Assertion A : In the photoelectric etfect, the electrons are ejected from the metal
surface as soon as the beam of light of frequency greater than threshold trequency
strikes the surtace.

Reason R :  When the photon of any energy strikes an electron in the atom.
transter of energy from the photon to the electron takes place.

In the light ot the above statements. choose the most appropriate answer from the
options given below :

Options:

36669413161, Both A and R are correct and R 1s the correct explanation of A

36669413162 DBoth A and R are correct but R 15 NOT the correct explanation of A

36669413163, A is correct but B 1s not correct

36669413164. A 1s not correct but R 1s correct

Question Number : 61 Question Id : 3666944235 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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26669413161 ATUTR G Hol & IR R Uol ORAT 6 A DI

36669413162, A TUTR &FI Tel & TR R Tl SHRAT -6l § A DI

36669413163, A 61 & IRgR TTAd &

= .
36669413164, ATTOA € IR TGl &

Question Number : 62 Question Id : 3666944236 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Match List-T with List-I1 -

List-1 Species List-II Geometry/Shape
Pl I Tetrahedral
B. Acetvlide anion il Lizsas
C.NHy III. Pyramidal
IV. Bent

D. Cl05~

Choose the correct answer from the options given below:

Options:

36669413165, A-IIl B-II. C-I, D-IV

36669413166, A-IIL, B-I, C-II. D-IV

36669413167, A-1IL B-IV. C-1, D-1I

36669413168, A-1IL B-IV, C-II, D-I

Question Number : 62 Question Id : 3666944236 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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36669413166. A-LlL B-I. C-II. D-IV
36669413167, A-LIL B-IV, C-1, D-II

36669413168, A-IL B-TV, C-1I, D-I

Question Number : 63 Question Id : 3666944237 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

25 mL of silver nitrate solution (1MW) 1z added dropwise to 25> ml. of potassium 10dide

(1.05 M) solution. The 1on(s) present in veryv small quantity 1n the solution 1s/are
Options:

36669413169, I only

36669413170, Ag™ and I" both

36669413171. K& only

36669413172, NO3~ only

Question Number : 63 Question Id : 3666944237 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RiedR Agee (1M) & 25 mL faag of d&-g¢ B TR JRISES (1.05M)
% 25 mL faega & e man 81 faema & ofy gem o J ot s SufiE ©
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36669413169, I" haT

36669413170, Ag+ A4l gl

36669413171, K~ ®ada

36669413172, NO3~ 4l

Question Number : 64 Question Id : 3666944238 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

For elements B, C. N, Li. Be, O and E, the correct order of first ionization enthalpy 1s

Options:

36669413173. Li<Be <B<C<N<O0Q <F

36669413174. Li<B<Be<C<O<N<F

36669413175. B> L1=Be>C>N>0>F

36669413176. Li<Be<B<C<0O<N<F

Question Number : 64 Question Id : 3666944238 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ddi B. C. N. Li. Be. O TUTF & {00 WYH G- TN &1 ol hH ©

Options:
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36669413174. Li<B<Be<(C=0Q<N<F

36669413175. B> L1=Be>C>N>0>F

36669413176. Li<Be<B<C<Q<N<F

Question Number : 65 Question Id : 3666944239 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the extraction process of copper, the product obtained after carrying out the
reactions

(i) 2Cu,S + 30, — 2Cu,0 + 2580,

(i1) 2Cu,0O + Cu,8 — 6Cu + SO,  1s called

Options :

36669413177. Copper matte

36669413178, Copper scrap

36669413179, Blister copper

36669413180, Reduced copper

Question Number : 65 Question Id : 3666944239 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) 2Cu,S + 30, — 2Cu,0 + 2850,

(11) 2Cuy0O + Cu,yS — 6Cu + S0,

Options:

36669413177, BIUT He

36669413178, HIUT ThU

36669413179, [&01%c PHIU

36669413180, UL HIUT

Question Number : 66 Question Id : 3666944240 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
Statement-1 :  Methane and steam passed over a heated N1 catalvst produces hvdrogen gas.

Statement-II : Sodium nifrite reacts with NH,Cl to give H,0, N> and NaCl.

In the light of the above statements,. choose the most appropriate answer from the options
given below :

Options:

36669413181 Doth the statements | and 1] are correct

36669413182. Both the statements I and 1] are incorrect

36669413183. Statement [ 15 correct but Statement II 1s incorrect
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Question Number : 66 Question Id : 3666944240 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
d gl Y [RU U §

FHYF 1 : B YT FAar™ B 7TH Ni IGIRS IR Hdlled B IR glga e 119

3dF 8ldl o

DYF 11 : FITSTH F1gc e U Ny, C1 B MU Gl 8 H,0. N, TYT NaCl.

Options:

36669413181 PU I ddl Y- II 2l H‘cﬁ%

36669413182 DY I YT HYUA 11 &1 TTdd

26660413183 DU T TR § U= PY 11 7Teld §

266604131q4 PUA I 8 R HYA I T

el

Question Number : 67 Question Id : 3666944241 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Match List-I with List-I1:

Last-1 Liet-T1

A K 1. Thermonuclear reactions
B.K(Cl II. Fertilizer

C KOH IT1. Sodium potassiom pump
D Li IV. Absorbent of CO)5

Choose the correct answer from the options given below :

Options:

36669413185, A-IV. B-I. C-III

36669413186. A-IV.

B-III, C-I,

D-II

D-II

36669413187, A-III, B-IV, C-II, D-I

36669413188, A-III. B-II, C-IV, D-I

Question Number : 67 Question Id : 3666944241 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

36669413185. A-IV.

B-I, C-III,

D-II
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36669413187. A-IIL B-IV, C-1I. D-1

36669413188, A-1IL, B-II, C-IV, D-I

Question Number : 68 Question Id : 3666944242 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

For compound having the formula (GaAlCl,  the correct option
from the following 1s

Options:

36669413189 Oxidation state of Ga i the salt GaAlCl, 1s +3.
36669413190, U2 1s coordinated with Cl in GaAlCl,

(Ga 13 more electronegative than Al and 1s present as a cationic part of the salt
36669413191, GaAlCly

36669413192 C | torms bond with both Al and Ga m GaAlCl,

Question Number : 68 Question Id : 3666944242 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
GaAICl, T & I & feru FHufafad o 3 a8l fdde g

Options:

26660413189 TTEC GaAlCl, T Ga DI STRITHUN Gw1 +3 B
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26660413190 GaAlC], T Ga SUHEHUINA 8 €19 |

Al BT UL Ga YD [dgYd BUTHS § 3N FieT GaAlCl, H YU Ued
36669413191, P ©U I JURUT &

69413100 GaAICL, H Cl, Al TUT Ga T H TG &1 |

Question Number : 69 Question Id : 3666944243 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following complex has a possibality to exist as merdional
1somer?

Options:

36669413193, LCONH3)3(NOo)3]

36669413194, [©° (en)i

36669413195, 00 (€n)Clel

36669413196, Lt (NHa)2 Cll

Question Number : 69 Question Id : 3666944243 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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9 8 9 foog o d v@iiRe TH199d (Meridional isomer) ® &4 H UTY S
. =

Sl HIGAT B ?

Options:

36669413193, LCO(NH3)3(NO)3]

36669413194, Lol

36669413195, L-olen)xCh]

[pt(NH: ),(Cl,
36660413196, [P0 32(Ch]

Question Number : 70 Question Id : 3666944244 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The set which does not have ambidentate ligand(s) 1s

Options:

T, My
36669413197, ED 1A, NCS-. €04

— y e ;
36669413198, NO2 . C;047. EDTA

36669413199 Czﬂf_._ ethylene diammine, H,O

36669413200, €204~ - NO,;~. NCS™

Question Number : 70 Question Id : 3666944244 Question Type : MCQ Option Shuffling : Yes Is
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e for s JyTe-dt oS 81 6. 38 ©
Options:

T A= wTo— W=
36669413197. EDTA™. NCS ™. C,04

— P it
36669413198, NO2 . L2047 EDIA

36669413199, C204°~. T STEUHM. H,0

36669413200, C2047 . NO, -, NCS-

Question Number : 71 Question Id : 3666944245 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Grven below are two statements:

Statement I: If BOD 1s 4 ppm and dissolved oxygen 1s 8 ppm. then 1t 1s a good
quality water.

Statement II: It the concentration of zinc and nitrate salts are 5 ppm each. then 1t
can be a good quality water.

In the light of the above statements. choose the most appropriate answer trom the
options given below:

Options:

Both the statements I and I] are correct

36669413201.

36669413202. Both the statements [ and 1] are incorrect

36669413203, Statement [ 15 correct but Statement II 1s incorrect
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36669413204, Statement I 15 incorrect but Statement 1T 1s correct

Question Number : 71 Question Id : 3666944245 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g 2l $Y- feu 8

ﬁ‘lﬂl%: gie ofd &1 BOD 4 PP ﬁ?@%ﬁ T § ppm%?ﬁﬁiﬂﬁm
DI ol

HUA 11 : ig o quTAEce Oleel A O U@ &I 54l 5 ppm © dl old D

UTGdl 3=31 8l Habdl o
SURIad ®Y-] & fore i v fawedi § O galfve 3fd 3o difou
Options:

36669413201 PU 1 dUl hY 11 G *HEE]T%I

26660413202 PYUT I AYT HYF 11 &1 Tad o |

36669413203, PY- I Tal & aYl HY I1 7Tl g |

36669413204, PUA 1 TTeld © AUl DU 1T Jol 6|

Question Number : 72 Question Id : 3666944246 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Thin layer chromatography of a mixture shows the following observation:

»
A "

The correct order of elution in the silica gel column chromatography 1s

Options:

36669413205, B. C. A

36669413206, - C. B

36669413207. L. A. B

36669413208, B. A. C

Question Number : 72 Question Id : 3666944246 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U 00T I Uaeil WRd bt FafeiRad Uamr <2l g -

.
A

& B

RferaT ofd Iy HIACHTH H FeaT 1 9el $0 &
Options:

36669413205, B. C. A

36669413206, A. C. B
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36669413207. €. A. B

36669413208, B. A. C

Question Number : 73 Question Id : 3666944247 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following compounds i1 increasing order of rate of aromatic
clectrophilic substitution reaction

OH OH 0 OH
| b C d

Options:

36669413209, & & b d

36669413210, P- ¢, a, d

36669413211, L P: €. @

36669413212, 4, b, a, ¢

Question Number : 73 Question Id : 3666944247 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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RIAfeS saaeH Hel UidITT= HiUfhal &} & ded %d # FHafafad aife!
&1 IR DIfelU

OH OH 0 OH
a b C d

Options:

36669413209, & 2+ P d

36669413210, ©» €, &, d

36669413211, 9= bs €, @

36669413212, @ s 2, C

Question Number : 74 Question Id : 3666944248 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[ = ‘T"” i ] Jf H ~Nu
| . Nu 1 -y (1)

= |-‘ Ny i - E N
[ W O [ W ] (1)

Where Nu = Nucleophile

Find out the correct statement from the options given below tor the above 2
reactions.

Options:

36669413213 Reaction (I) is of 1% order and reaction (II) is of 208 order
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36669413214 Reactions (I) and (II) both are of 15 order

36669413215, Reactions (I) and (II) both are of 210 order

36669413216 Reaction (I) 1s of 229 order and reaction (II) is of 1% order

Question Number : 74 Question Id : 3666944248 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Cl | Nu
Nu (1)
MeO OMe

Cl Nu

O,N O,N

. E

e

T8I Nu = ffee

ORI 2 ATHIHTTHT & 1678 e {4T [qedl | I Jel HYT FHU.

Options:

26660413213 HIHIHTT (1) UYH Bife DI g 3R i (an) fedig ®ifc Hi g

36669413214, SITHIEHTT (1) 7T fffehd (11) &IH1 81 WYH DI B 8

26669413015 SHIHTT (1) TUT 3ffshar (1) <111 8 fgaid Pife i g

26660413216, MR (1) fadia Sife ®i g 3R iffddr (1) wyH Sifc i g

S
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Question Number : 75 Question Id : 3666944249 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

()

. _ | (i) NH,NH,, KOH
KMNO, A’ (Major Product) — >'B'

—) [11:] I—I;G‘ t]},{mm Pro Elllﬂ:l

(R = alkyl)
‘A’ and *B’ in the above reactions are:

Options:

CO-H
J- ; = S /J\\/“\,f’CHf;
36669413217, ® A~ CHO=A B =R

CO.H 0.  NHNH. 0
. SO 4 ‘ ‘

fﬁl\lﬂfﬂ"ﬁ CDH = A, B - | /)\w_wﬁmvf C—}H-};H'
36669413218, ® K

)
| M\ | = = R T T
36669413219, & CO.H=A B =R CO,H

)
o IO — = R o e - CH
36669413220. R MCHG A B=R CH;

Question Number : 75 Question Id : 3666944249 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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O

- (i) NH,NH,, KOH
KMNO, 'A’ (G 3aE) —— 2 B
) 30 8] 3R

SR SHfehar § 43 316 AdUTB ©

(R = Ufema)

Options:

CO,H CO,H

= - /J\/“\J CH;
36669413217, R o~~~ CHO = A B =R

0, NHNH 0

CO.H ﬂ _ H
'q..\
' COH=AB= )\ ~ C-NH-NH,

36669413218, &

O
| /W -- = = R+ "0
36669413219, & CO.H=A B =R CO,H

Q
| CHO = = R T e g T
36669413220. & MCH"} A.B=FK CH;

Question Number : 76 Question Id : 3666944250 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The complex that dissolves in water 1s

Options:

[Fe-(OH)-(OAc)] Cl
36669413221, L ©3(OH)(0AC)]
36669413222, 3L-O(NOJsl
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Fe,[Fe(CN):1-
36669413223, [ caFe(CN)sls

NH, )s[As(Mo:O1
scegea1azag. O DalglABMosO o))

Question Number : 76 Question Id : 3666944250 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
a8 Hpd &l I § gadl 5. 8|

Options:

36669413221, LT ©3(OH)2(0Ac)s] C1

KACD(:":D'h
36669413222. 31Co(NO,)s]

Fe,[Fe(CN®
36669413223, T calFe(CN)sls

NH,):[As(Moz044).
wEEsdTIzos, P el AN Ly ly)

Question Number : 77 Question Id : 3666944251 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HNO,

o-Phenylenediamine X

i
P

Major Product

X' 15

Nnfinnc *
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36669413225. N,
N-’-"::«
N
]'_'-.;.r,.-“
36669413226. H

36669413227.

36669413228.

Question Number : 77 Question Id : 3666944251 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
o-BHAHeREER 2 oy
H sdilg

IRIEd AfufpaT o x B

Options:

36669413225, N

36669413226.
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H
3
N_]
36669413227. ~ NH,
36669413228.

Question Number : 78 Question Id : 3666944252 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The polymer X - consists of linear molecules and 1s closely packed. It 1s prepared
i the presence of triethylaluminium and titanium tetrachloride under low
pressure. The polymer X is-

Options:

366694132729 Polytetratluoroethane

36669413230 Polyacrylonitrile

36669413231 High density polythene

36669413232 Low density polythene

Question Number : 78 Question Id : 3666944252 Question Type : MCQ Option Shuffling : Yes Is
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dgdP X IdD &rngaﬁ%w% AR Hmdmﬁwﬁﬂﬁ%sﬂcﬁ:rﬁu'ﬁm
CEUide UqHITH SR ergc g <ol Farigs & SURyfd § 9 g | fhdl
Sdl g 1 9gad X §

Options:

36669413229, TICIICCTRIHARITY

36669413230. SN A R E| R

36669413231, 39 U@ Iy

36669413232, 31 e Hlierd=

Question Number : 79 Question Id : 3666944253 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
L—1somer of tetrose X (C;HgO,) gives positive Schuff's test and has two clural

carbons. On acetylation. 'X' yields triacetate. X' also undergoes following reactions

HNO; NaBH.

IAI £ J I'EI __'3: IBI
Chiral compound
X' 18
Options:
CHO
HO H
HO H
36669413233. CH;OH
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H OH
2 H
CH,OH
CHO
H OH
HO H
36669413235. CH,0OH
[
H OH
| HO H
O . "
CH-OH
36669413236. -

Question Number : 79 Question Id : 3666944253 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

¢2RI X (C,H0,) BT L FH19Ud YHRIAD 1% URIEU1 &dl 8 | X Pl Ui,
clsUdice odl o | X HafaRad sfufhad sxar g

HNO3 NaBH4

IAI & I'EI 3 !EI
X'§

Options:

36669413233.
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CHO

HO H
HO H
CH,OH
H OH
H OH
2 H
36669413234, CH,OH
CHO
H OH
HO H
36669413235, CH,OH
H OH
HO H
2 —_— . H
36669413236. CH,OH

Question Number : 80 Question Id : 3666944254 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When a solution of mixture having two morganic salts was treated with freshly
prepared ferrous sulphate 1n acidic medium, a dark brown ring was tormed
whereas on treatment with neutral FeCl,. it gave deep red colour which disppeared

]
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on boiling and a brown red ppt was tormed. The mixture contains




Options:

-

. A u
36669413237, L2047 & NO;

36669413238, L1300 & NO5-

36669413239, 203~ & CH3;CO0

, 4 A0 | e B
36669413240, SU37 & C704

Question Number : 80 Question Id : 3666944254 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl PTe-® Fiee! & (Yol & foag= o1 o ety amem # qid FHita
Fehe & [daa ¥ FYFIRG B § dl U T 1 a0l adl § vlaid 3arH
FeCl; ¥ SUIRA ® G 7T AT 7 W1t §IdT1 g | 98 {7 f[deg= &l e |

3S Sl © SR YR-a1d 1 &1 3gay firear g
fgor o 3uyfya @

Options:

36669413237, L2047 & NO5-

36669413238, CH3C00™ & NO3™

36669413239, ~U3~ & CH3CO0™

R O o
36669413240, SV3~ & (04
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Chemistry Section B

SectionId: 366694245
Section Number : 6

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Enable Mark as Answered Mark for Review and

Clear Response: ves
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 366694245
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 81 Question Id : 3666944255 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A solution of sugar 15 obtamed by mixing 200g of its 25% solution and 500g of its
40% solution (both by mass). The mass percentage ot the resulting sugar solution

18 (Nearest mnteger)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Nitactinn Nitmhar - 21 Niractinn Tl - AAARAQAADIEER NMitactinn Tuno * CA Calriillatnary - Nlanao
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Il BT U [dTT TP 25% [dTT- & 200g TUT 40% [T & 500 B HIT
PP TG1 ©§ (S GOTHF UR SR §) TRUMH W= W D & [aadH
@ Ufa9d 9isdl o GELGEECIEE:D

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 82 Question Id : 3666944256 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

An atomic substance A of molar mass 12 g mol™" has a cubic crystal structure with
edge length ot 300 pm. The no. of atoms present i one unit cell of A 1s
. (Nearest integer)
: = 3 _ . 23 o
Grven the density of A 15 3.0 gmL I and N 4 =6.02 % 10 mol :

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 82 Question Id : 3666944256 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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AR Go0HM 12 ¢ mol™! & U%h GRANUGE Y1y A B G391 4514 &, forgd]
IR TS 300 pm © | UG1Y A Bl U Thlg Ja § SURYT WA & 4=
(Fepcda Ui T ) (fGa1g : ABTETd 3.0 gmL 1N, =

6.02 x 10° mol™1)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 83 Question Id : 3666944257 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Solid fuel used 1n rocket 1s a mixture of Fe;0; and Al (1n ratio 1:2). The heat

evolved (kJ) per gram of the mixture 1s (Nearest mteger)

Given: &Hfﬂ (Al,O3)=-1700 kJ mol ™!
AH{® (Fe503) = -840 kJ mol™!

Molar mass of Fe, Al and O are 56, 27 and 16 g mol™" respectively
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 83 Question Id : 3666944257 Question Type : SA Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0




e T IUGRT fohdl &4 aTell 319 5YH Fe,0, a4l AL 1:2 3FUId | [HYU g
T3S (k1) it 9 v @ el ag @ (BEZGERUIED
]

-

P

fda1 8 AHP (Al,05) =—1700 kJ mol™!

AH¢ (Fe,0;) = -840 kT mol

HIGR GoOHT : Fe. Al JUT O & HHYT

56,27 d4T 16 ¢ mol™
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 84 Question Id : 3666944258 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
0.004 M K-S0, solution 1s 1sotonic with 0.01 M glucose solution. Percentage

dissoctation of K,50, 1s (Nearest mteger)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

19

Question Number : 84 Question Id : 3666944258 Question Type : SA Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0




Correct Marks : 4 Wrong Marks : 1

0.004 M K,S0,, @1 faad T ¥ & 0.01 M fdea ¥ FHRRRI & | K,S0, B
yfaerd fagie ¢ (Mdeqn qufe &)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 85 Question Id : 3666944259 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A muxture of 1 mole of H,O and 1 mole of CO 1s taken 1n a 10 litre container and

heated to 725 K. At equilibrium 40% of water by mass reacts with carbon
monoxide according to the equation: CO(g) ~ H,O(g) = CO,(g) + H5(g). The

equilibrium constant K » 10~ tor the reaction 1s . (Nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 85 Question Id : 3666944259 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1 B H,O Y1 1 Hid €O & YU &l 10 ofiex & a9 § ddbx 725 K W IH

[BOT 51 9 AR H Td T 40% (G099 ) Ta- AFIdT5s 9
THTTRaT FHIHR0T HTHR H(Uihdl Sl 8

CO(g) + H,O(g)= CO,(g) + H5(g)

3{fiferg & fay 9 RIS K, < 107 & (Feeag guiie
H)

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 86 Question Id : 3666944260 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In an electrochemuical reaction of lead. at standard temperature, it

o

E (Pb _11+_;ij =m Volt and g [Pbi-b-:;Pb] —n Volt. then the value of E (Pb2/P b"t*]

18 given by m — xn. The value of x 15 .(Nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 86 Question Id : 3666944260 Question Type : SA Calculator : None

a
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1




WS @ MG Y R U [degd-I8aHe AHbarH i &' (Pb> /Pb) =m
Tl E°(Pb*/Pb) =n 91 © I E'(Pb2"/Pb**) PTHM &1 8 m —xn. x PTHAM

g

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

19

Question Number : 87 Question Id : 3666944261 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
KClO; + 6FeS0,4 + 3H,50, — KCl + 3Fe5(S0,4); + 3H,0

The above reaction was studied at 300 K by monitoring the concentration of
FeSO, mn which imtial concentration was 10 M and after halt an hour became 8.8

M. The rate of production of Fe,(SO,); 15 x10 P mol L1 g1,

(Nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 87 Question Id : 3666944261 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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KCIO; + 6FeSO, + 3H,S0, — KCl + 3Fe,(S0,); + 3H,0

JURIE HIUHTT BT HZTT 300 K UR FeSO,, DI Higdl AT HX {471 A7)
SU® ! WRIYS Aigdl 10 M Ul 3R 3147 9¢ 9YTd 8.8 M Bl TUi |

Fe)(504)s P FIE Bl IR © <10 mol L~} s~

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 88 Question Id : 3666944262 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The ratio of spin-only magnetic moment values p_g [E.‘r[C}I_}ﬁ]g‘ [ agr [Cr(H,0) ™

15

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 88 Question Id : 3666944262 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DT TN P Haq (20 AT BT ST

U-e [CHCNY ™ [ e [CHHAOVPT B
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 89 Question Id : 3666944263 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

OH
Me
' HBr -
b Major Produet

The number of hyperconjugation structures involved to stablize carbocation
formed in the above reaction 1s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 89 Question Id : 3666944263 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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OH

HBr

S A
RS REAR] [

IR Hfufhar o Rfa Eyam= & iAa UeE o34 8 gmfed 3fd
g Y13 T G

©.

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 90 Question Id : 3666944264 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

H
(v mole)

The ratio x'yv on completion of the above reaction 1s

L
U o~ ____.~-‘D'H x mol of MeMgBr

H.O"

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

P
Me "
2

Question Number : 90 Question Id : 3666944264 Question Type : SA Calculator : None

H _______ ':.._—_. E__ L

ARl A L % _ 1. 8 e - .

M

~

S
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Correct Marks : 4 Wrong Marks : 1

0
o M~ _OH xmolof MeMgBr

s Me
(v mole) MO 1

TR HURgT & gul - R ¥y &I 0T B

Response Type : Numeric

w,

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10
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